

$$A \times (2C \times 3B) = \begin{vmatrix} i & j & k \\ 4 & 1 & -2 \\ 24 & 30 & -12 \end{vmatrix}$$

$$\begin{vmatrix} i & j & k \\ 4 & -2 & 4 \\ 24 & -12 & 24 \end{vmatrix} \begin{vmatrix} -j & +k \\ 4 & 24 \\ 24 & 30 \end{vmatrix}$$

$$(-60 - 12)i - (-48 - 48)j + (24 + 120)k$$

$$-72i + 96j + 144k$$

2. $A + B + C = 0$

$$(Pi - 6j - 3k) + (4i + 3j - k) + (i - 3j + 2k) = 0$$

$$Pi - 6j - 3k = -(4i - 3j - k) \Rightarrow (i - 3j + 2k)$$

$$= 4i + 3j + k - i + 3j - 2k$$

$$= 3i + 6j - k$$

~~P =~~

$$P = -3$$

$$A = 4i + j - 2k$$

$$B = 3i - 2j + k$$

$$C = i - 2k$$

Kelvin Raymond Chismore
1916NRG061032

Mech. Engr.

a $(A - 2B) \times C$

$$A - 2B = (4i + j - 2k) - (6i - 4j + 2k)$$

$$= -2i + 5j - 4k$$

$$(A - 2B) \times C = \begin{vmatrix} i & j & k \\ -2 & +5 & -4 \\ 1 & 0 & -2 \end{vmatrix}$$

$$= \begin{vmatrix} 5 & -4 & -2 \\ 0 & -2 & 1 \\ 0 & -4 & -2 \end{vmatrix} + k \begin{vmatrix} -2 & 5 \\ 1 & 0 \end{vmatrix}$$

$$= 0 + (-10) + (-4 + 4)j + (-3 + 0)k$$

$$= -10i + 5k$$

b $A \times (2C \times 3B)$

$$2C \times 3B = \begin{vmatrix} i & j & k \\ 2 & 0 & -4 \\ 9 & -6 & 3 \end{vmatrix}$$

$$= \begin{vmatrix} 0 & -4 & 12 \\ -6 & 3 & -18 \\ 24 & 6 & -12 \end{vmatrix} + j \begin{vmatrix} 2 & -4 \\ 9 & -6 \end{vmatrix} + k \begin{vmatrix} 2 & 0 \\ 9 & -6 \end{vmatrix}$$

$$= 24i - (-36 + 6)j + (0 + (-12))k$$

$$= 24i + 30j - 12k$$